ALY : 002248 U fRTIR: He i s NS 2012-006

BRI RN IR A F
KTERTFRAEEHRBEANAS

ANEBEEE., UF, FREBANRIENENRASE. £
FaF K, HFxrAEF e BBIEE. REEGRREREERXRRRIEFTAE.

R BB A AT BR A W) CLL R fRjAR 28 w7 el e 2 B2 ARG BT i A1
B IR R AT IR A W] (LU M RjFRete R EmAe) RN 30,0005 76, FF
e LE B 25100%, A w48t Tl o MR N BETRRE A BIIE U . 7
WRAZH S SRR R XU Al T TR e BT REUR R A e, R
G RER, AR AMEE AR AR [ 5 A T BT TR, )
W 5| FEA 558 5 BBt

12012421 H30H , 2 vl # i ox KB AR R Wit IR A 45 (R B 1l A
20114F6 HLHBLER 1 (OG- A W Bofi 6 4 80 ke o A7 IR m) Y e ™ e 1 4 45 )
(4. 2011-025) 5 20114E12 HI9H B ) (O T4 7 ml BRI 2 15 )
(A 5405 2011-065) ; 20114F12 H24H B E ¥ O T8I 24 w3 Bt B OCIRAL
SIATEY A% 2011-070) ; 20124E1 HE H B EE I (& THIB 1A w4 it

SN (ANE%5: 2012-005)

P =
=
P =
=

0>

=

oF >

=

AE 23 75 35 R PR UL 08 AR AR L 08 2 B DR G D 1 3%

BN T
14 VS R SRS
B AR A4 TR — ‘

WM TEA | Rl | dREA | KRR
JHEHE AR I A B A ) 30,000 100% 30,000 49.85%
R4 BT B BN 7 A7 B A 7 0 0% 10,000 16.62%
L 2R ZEA QDA 5 A7 B 2 ] 0 0% 10,000 16.62%
S BT 2 AL AT R 5TAT 2 7 0 0% 5,000 8.31%
JEIE A B B AT P2 ] 0 0% 4,000 6.65%
JEGHE XL R A6 A PR A ) 0 0% 765 1.27%




JRE A B M LA A B 2 ] 0 0% 185 0.30%

JEE AR LA R 7] 0 0% 230 0.38%

& it 30,000 100% 60,180 100.00%

#1E20124E1 H30H , HeAR ke L 50 il 9R 1t e e n

HA7: JI0
- ‘ L LAgi] LAY
FMBEA | RRIRCEL] | A | Re L)
JIRE R A A R A ) 30,000 100% 30,000 66.32%
L ZR Z AR B 3 A PR A ] 0 0% 10,000 22.11%
AR T SR 0 AT BR A ) 0 0% 4,000 8.84%
JRE LB AT PR T 0 0% 765 1.70%
JEHE A B AL PR 2 ] 0 0% 187 0.62%
JHE AR AT B2 ] 0 0% 280 0.41%
& i 30,000 100% 45,232 100.00%

BUE H AT, AR R M A N S AR O N IR 45,232 15 7T, FF B HAT 8
T R AT B B R AR 1R AR B e M PR R
LR ) N M AR T [R) R JR A WA PR 2 ) RN gt AR RN HTL AT PR 2 ] 52 B
SE I AT TSN A5 S B N2 07 JCRIS0 07 JG . BB 2R VR A PR T AT 2 ] 1 %
TFEEEAEPF R o IR B R AR BINE R A R A =] & H 3 R 135,000 75 G,
T BB UL 5 R HE AR E 0 M 8 ANk 31104200 )5 15 H 985,000 5 76, — 56 % %
BE LTS, Jaht, 1RSSR E G R AR HE LI, HERER
FEMHEE A 10% .
O F R A A R R R O P B R S I . O B A O
FEvE 7= ARG
FRIE AT
JF AR B I A PR A A B2y

—O——4—H=1H



